

ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: MI-COO-61669-68751d3eb100b

Date: July 14, 2025

Seller (Exporter) Nicabanos LLC 6109 NW 6th Ct	Transport Type Air	Port of Loading Miami
Miami FL	Destination Country Vietnam	Destination Port Ho Chi Minh city
Consignee	Export Date 2025-07-11	Exporting Carrier DHL EXPRESS WORLDWIDE
IVANTOS CORPORATION PTE. LTD. C/O TRANSIMEX BONDED WAREHOUSE THU DUC WARD	Import Permit Number	Bill of Lading / AWB 6113803625
HO CHI MINH CITY Vietnam	Owner or Agent	Forwarding Agent

Buyer (Importer) IVANTOS CORPORATION PTE. LTD. 30 CECIL STREET #19-08 PRUDENTIAL TOWER 049712 Singapore

Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Flor de Castillo BK 56 Dragon Edicion Limitada Reserva 56 x 165 - Box of 20 Sticks	48.48 Kgs	Nicaragua
H.S.Code: 240210		
Flor de Castillo BK Torpedo 54 x 6 1/8 - Bundle of 10 Sticks	17.00 Kgs	Nicaragua
Flor de Castillo BK Torpedo 54 x 6 1/8 - Bundle of 10 Sticks H.S.Code: 240210 Flor de Castillo BK 56 BX (Box Press) 56 x 6 1/2 - Bundle of 10 Sticks		
Flor de Castillo BK 56 BX (Box Press) 56 x 6 1/2 - Bundle of 10 Sticks	10.50 Kgs	Nicaragua
H.S.Code: 240210		
Flor de Castillo Jade Gordo 52 x 164 - Bundle of 10 Sticks	7.50 Kgs	Nicaragua
H.S.Code: 240210 CERTIFICATE OF ORIGIN		
Flor de Castillo BK 56 Dragon 56 x 6 1/2 - Bundle of 10 Sticks	21.00 Kgs	Nicaragua
H.S.Code: 240210		
Flor de Castillo Prestigio Robusto 52 x 5 - Bundle of 10 Sticks	6.50 Kgs	Nicaragua
H.S.Code: 240210		
Flor de Castillo Prestigio Torpedo 52 x 6 1/8 - Bundle of 10 Sticks	8.00 Kgs	Nicaragua
Flor de Castillo Prestigio Torpedo 52 x 6 1/8 - Bundle of 10 Sticks H.S.Code: 240210		

Name of Authorized Trade Association



Authorized Signature Liane Ventura

Gine Ventura 1

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Greater Miami Chamber of

Commerce ("GMCC") is accurate, true and complete.

The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the

truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify GMCC in respect of any costs and/or claims made against GMCC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.





ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: MI-COO-61669-68751d3eb100b

Date: July 14, 2025

Seller (Exporter) Nicabanos LLC 6109 NW 6th Ct	Transport Type Air	Port of Loading Miami
Miami FL USA	Destination Country Vietnam	Destination Port Ho Chi Minh city
Consignee	Export Date 2025-07-11	Exporting Carrier DHL EXPRESS WORLDWIDE
IVANTOS CORPORATION PTE. LTD. C/O TRANSIMEX BONDED WAREHOUSE THU DUC WARD HO CHI MINH CITY Vietnam	Import Permit Number	Bill of Lading / AWB 6113803625
	Owner or Agent	Forwarding Agent ************************************

Buyer (Importer) IVANTOS CORPORATION PTE. LTD. 30 CECIL STREET #19-08 PRUDENTIAL TOWER 049712 Singapore

Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Flor de Castillo Ligera Torpedo 52 x 6 1/8 - Bundle of 10 Sticks	9.60 Kgs	Nicaragua
H.S.Code: 240210 Flor de Castillo Prestigio Gordo 58 x 6 - Bundle of 10 Sticks H.S.Code: 240210 Flor de Castillo Prestigio BX 58 (Box Press) 58 x 6 - Bundle of 10 Sticks	4.40 Kgs	Nicaragua
Flor de Castillo Prestigio BX 58 (Box Press) 58 x 6 - Bundle of 10 Sticks H.S.Code: 240210	5.50 Kgs	Nicaragua
Flor de Castillo Prestigio Toro 54 x 6 - Bundle of 10 Sticks H.S.Code: 240210 CERTIFICATE OF ORIGIN	9.00 Kgs	Nicaragua
Flor de Castillo Ligera 50 Robusto 52 x 5 - Bundle of 10 Sticks H.S.Code: 240210	6.50 Kgs	Nicaragua
Flor de Castillo Ligera Toro 54 x 6 - Bundle of 10 Sticks H.S.Code: 240210	9.00 Kgs	Nicaragua
Flor de Castillo Jade Gordo 56 x 166 - Bundle of 10 Sticks H.S.Code: 240210	4.20 Kgs	Nicaragua

Name of Authorized Trade Association



Gine Ventura 1

hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify GMCC in respect of any costs and/or claims made against GMCC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Commerce ("GMCC") is accurate, true and complete.

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Greater Miami Chamber of

The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing

of any innacuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and

Authorized Signature Liane Ventura



ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: MI-COO-61669-68751d3eb100b

Date: July 14, 2025

Seller (Exporter) Nicabanos LLC 6109 NW 6th Ct	Transport Type Air	Port of Loading Miami
Miami FL USA	Destination Country Vietnam	Destination Port Ho Chi Minh city
Consignee	Export Date 2025-07-11	Exporting Carrier DHL EXPRESS WORLDWIDE
IVANTOS CORPORATION PTE. LTD. C/O TRANSIMEX BONDED WAREHOUSE THU DUC WARD HO CHI MINH CITY Vietnam	Import Permit Number	Bill of Lading / AWB 6113803625
	Owner or Agent	Forwarding Agent ************************************

Buyer (Importer) IVANTOS CORPORATION PTE. LTD. 30 CECIL STREET #19-08 PRUDENTIAL TOWER 049712 Singapore

Remarks



Description	Weight	Country of Origin
(May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	weight	Country of Origin
Flor de Castillo O Line 56 x 6.25 - Bundle of 10 Sticks	5.25 Kgs	Nicaragua
I.S.Code: 240210		
flor de Castillo O Line 46 x 5.62 - Bundle of 10 Sticks	2.40 Kgs	Nicaragua
Flor de Castillo O Line 46 x 5.62 - Bundle of 10 Sticks H.S.Code: 240210 Flor de Castillo O Line 53 x 5.25 - Bundle of 10 Sticks		
Flor de Castillo O Line 53 x 5.25 - Bundle of 10 Sticks	3.00 Kgs	Nicaragua
H.S.Code: 240210		
Flor de Castillo O Line 49 x 7 - Bundle of 10 Sticks	3.40 Kgs	Nicaragua
H.S.Code: 240210 CERTIFICATE OF ORIGIN		
FLOR DE CASTILLO PAPITO GOMEZ 25 CASTILLO MADURO US2200301	4.25 Kgs	Nicaragua
H.S.Code: 240210		
CLOR DE CASTILLO PAPITO GOMEZ 25 CANNON MADURO	25.00 Kgs	Nicaragua
H.S.Code: 240210		
CLOR DE CASTILLO PAPITO GOMEZ 25 SHORT DAGGER MADURO	17.48 Kgs	Nicaragua
1.S.Code: 240210 CHAMBERS FEDERA		

Name of Authorized Trade Association



Gine Ventura 1

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above mentioned goods originate in the country(ies) specified above and comply with the rules of

origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Greater Miami Chamber of

Commerce ("GMCC") is accurate, true and complete. The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this

Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods. -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the

truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify GMCC in respect of any costs and/or claims made against GMCC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Authorized Signature Liane Ventura





ORIGINAL

TO VALIDATE, GO TO **VERIFY.FTGS.US** Certificate Number: MI-COO-61669-68751d3eb100b

Date: July 14, 2025

Seller (Exporter) Nicabanos LLC 6109 NW 6th Ct	Transport Type Air	Port of Loading Miami
Miami	Destination Country	Destination Port
FL USA	Vietnam	Ho Chi Minh city
Consignee IVANTOS CORPORATION PTE. LTD. C/O TRANSIMEX BONDED WAREHOUSE THU DUC WARD HO CHI MINH CITY Vietnam	Export Date 2025-07-11	Exporting Carrier DHL EXPRESS WORLDWIDE
	Import Permit Number	Bill of Lading / AWB 6113803625
	Owner or Agent	Forwarding Agent ************************************

Buyer (Importer) IVANTOS CORPORATION PTE. LTD. 30 CECIL STREET #19-08 PRUDENTIAL TOWER 049712 Singapore

Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Flor de Castillo BK 58 Edicion Limitada Reserva 58 x 165 - Box of 10 Sticks	1.02 Kgs	Nicaragua	
H.S.Code: 240210 FLOR DE CASTILLO PAPITO GOMEZ 25 LANCE MADURO H.S.Code: 240210 FLOR DE CASTILLO PAPITO GOMEZ 25 DAGGER MADURO	18.60 Kgs	Nicaragua	
FLOR DE CASTILLO PAPITO GOMEZ 25 DAGGER MADURO H.S.Code: 240210	4.55 Kgs	Nicaragua	
Flor de Castillo BK 58 Edicion Limitada Reserva 58 x 165 - Bundle of 10 Sticks (classic) H.S.Code: 240210 CERTIFICATE OF ORIGIN	0.44 Kgs	Nicaragua	
Flor de Castillo BK 56 Edicion Limitada Reserva 56 x 165 - Bundle of 10 Sticks (snake ring) H.S.Code: 240210	1.26 Kgs	Nicaragua	
Po CHAMBERS FEDERATION			

Name of Authorized Trade Association



Authorized Signature Liane Ventura

Gine Ventura 1

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Greater Miami Chamber of

Commerce ("GMCC") is accurate, true and complete.

The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any innacuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the

truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify GMCC in respect of any costs and/or claims made against GMCC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.





SELLER

MAGNUM ASIA LIMITED

Level 19 Two IFC Center, 8 Finance Street Central, Hong Kong Tel: + 852 2251 1957

BUYER

IVANTOS CORPORATION PTE. LTD.

30 CECIL STREET #19-08 PRUDENTIAL TOWER SINGAPORE (049712)

CONTACT: +84 34 995 9511 (MS. NGA)

CONSIGNEE

IVANTOS CORPORATION PTE. LTD.

C/O TRANSIMEX BONDED WAREHOUSE, THU DUC WARD, HO CHI MINH CITY, VIETNAM

TAX CODE: 0301874259

CONTACT: +84 34 995 9511 (MS. NGA)

INVOICE

No: INV-IVS/250704 Date: 04 July, 2025

Means of Transportation:	By Air
From:	Miami
To:	Ho Chi Minh city
Date of Shipment:	July, 2025
AWB NO:	6113803625

Total Amount (USD):	16,025.17
Total Number of Cigars:	9,895
Total Number of Cartons:	21
Term of Delivery:	CPT Tan Son Nhat Airport,
Term of Delivery:	Ho Chi Minh City, VietNam

No.	GTIN Barcode	Description	Country of Origin	Packing	Stick/box	Quantity (Sticks)	Quantity (Box)	Price/Box (USD)	Total Price (USD)
1	628942187131	Flor de Castillo BK 56 Dragon Edición Limitada Reserva 56 x 165 - Box of 20 Sticks	Nicaragua	Wooden Box	20	480	24	48.45	1,162.80
2	4897131410381	Flor de Castillo BK Torpedo 54 x 6 1/8 - Bundle of 10 Sticks	Nicaragua	Bundle	10	1,000	100	13.75	1,375.00
3	4897131410398	Flor de Castillo BK 56 BX (Box Press) 56 x 6 1/2 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	16.81	840.50
4	4897131410411	Flor de Castillo Jade Gordo 52 x 164 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	11.75	587.50
5	4897131410541	Flor de Castillo BK 56 Dragon 56 x 6 1/2 - Bundle of 10 Sticks	Nicaragua	Bundle	10	1,000	100	17.13	1,713.00
6	4897131410459	Flor de Castillo Prestigio Robusto 52 x 5 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	11.75	587.50
7	4897131410466	Flor de Castillo Prestigio Torpedo 52 x 6 1/8 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	11.75	587.50



8	4897131410510	Flor de Castillo Ligera Torpedo 52 x 6 1/8 - Bundle of 10 Sticks	Nicaragua	Bundle	10	600	60	11.75	705.00
9	4897131410473	Flor de Castillo Prestigio Gordo 58 x 6 - Bundle of 10 Sticks	Nicaragua	Bundle	10	200	20	21.39	427.80
10	4897131410480	Flor de Castillo Prestigio BX 58 (Box Press) 58 x 6 - Bundle of 10 Sticks	Nicaragua	Bundle	10	250	25	21.39	534.75
11	4897131410497	Flor de Castillo Prestigio Toro 54 x 6 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	13.75	687.50
12	4897131410503	Flor de Castillo Ligera 50 Robusto 52 x 5 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	11.75	587.50
13	4897131410527	Flor de Castillo Ligera Toro 54 x 6 - Bundle of 10 Sticks	Nicaragua	Bundle	10	500	50	13.53	676.50
14	4897131410404	Flor de Castillo Jade Gordo 56 x 166 - Bundle of 10 Sticks	Nicaragua	Bundle	10	200	20	15.71	314.20
15	4897131410916	Flor de Castillo O Line 56 x 6.25 - Bundle of 10 Sticks	Nicaragua	Bundle	10	250	25	25.75	643.75
16	4897131410923	Flor de Castillo O Line 46 x 5.62 - Bundle of 10 Sticks	Nicaragua	Bundle	10	200	20	25.75	515.00
17	4897131410930	Flor de Castillo O Line 53 x 5.25 - Bundle of 10 Sticks	Nicaragua	Bundle	10	200	20	25.75	515.00
18	4897131410947	Flor de Castillo O Line 49 x 7 - Bundle of 10 Sticks	Nicaragua	Bundle	10	200	20	25.75	515.00
19	4897131410121	FLOR DE CASTILLO PAPITO GOMEZ 25 CASTILLO MADURO	Nicaragua	Wooden Box	25	125	5	34.81	174.05
20	4897131410169	FLOR DE CASTILLO PAPITO GOMEZ 25 CANNON MADURO	Nicaragua	Wooden Box	25	500	20	44.74	894.80
21	4897131410138	FLOR DE CASTILLO PAPITO GOMEZ 25 SHORT DAGGER MADURO	Nicaragua	Wooden Box	25	475	19	42.56	808.64
22	4897131410824	Flor de Castillo BK 58 Edición Limitada Reserva 58 x 165 - Box of 10 Sticks	Nicaragua	Wooden Box	10	10	1	23.69	23.69
23	4897131410145	FLOR DE CASTILLO PAPITO GOMEZ 25 LANCE MADURO	Nicaragua	Wooden Box	25	500	20	39.29	785.80
24	4897131410152	FLOR DE CASTILLO PAPITO GOMEZ 25 DAGGER MADURO	Nicaragua	Wooden Box	25	125	5	39.83	199.15



		10 Sticks (snake ring) TOTAL					9,895	862		16,025.17
2	26	4897131411609	Flor de Castillo BK 56 Edición Limitada Reserva 56 x 165 - Bundle of	Nicaragua	Bundle	10	60	6	19.31	115.86
2	25	4897131411494	Flor de Castillo BK 58 Edición Limitada Reserva 58 x 165 - Bundle of 10 Sticks (classic)	Nicaragua	Bundle	10	20	2	23.69	47.38

ACCOUNT INFORMATION

Payment term: T/T 100% total amount NET 30 days from invoice date

Account name: MAGNUM ASIA LIMITED
Account Number: 382534103846101
Bank: Bank of Communications (Hong Kong)
Bank Address: 20 Pedder Street Central Hong Kong

Swift Code: COMMHKHK

NOTE

MAGNUM ASIA LIMITED



